Subject no 1
1. From User EXEC mode, write the command sequence to statically assign the IPv6 address 2001:C30:20:2:209:7C0F:F00D:1501/64 to interface Fast Ethernet 0/0.
2. A 100Mbps CSMA/CD network is considered. The network is UTP cabled and the maximum number of repeaters between any two computers placed in the same collision domain is 2. Knowing that the signal propagation speed through the cable is 200m/(s and the delay time introduced by one repeater is 0.5(s compute the minimum length of a frame in this network. The frame length is always an integer number of bytes.

3. Write the Linux command that adds a default route to gateway 192.168.0.1.

4. From User EXEC mode, write the command sequence to change the port priority for a Cisco switch. Fast Ethernet 0/12 and priority 64 are considered. 

5. Write the Windows commands to set and release the IP address through DHCP.

6. Write the ping commands sequence when troubleshooting network connectivity.

